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Question # 1 of 30 ( Start time: 08:05:46 PM, 02 January 2021)

Previously how many bits were used to store 2's complement notation.

Select the correct option

8 bits

16 bits
)
b d
64 bits
128 bits
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Question # 2 of 30 ( Start time: 08:06:20 PM, 02 January 2021)

Which of the following is true about TCP in comparison to UDP?

Select the correct option

Less reliable but more efficient

More reliable but less efficient

g |
b d

More reliable and more efficient

Less reliable and less efficient
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Question # 3 of 30 ( Start time: 08:07:07 PM, 02 January 2021 )

Let a unsorted list Fred, Alex, Diana ,Byron ,Carol
Which one will be sorted at last

Select the correct option

Alex
O

Fred
O

Diana
O

Carol

@
- )
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Question # 4 of 30 ( Start time: 08:08:01 PM, 02 January 2021)
The value of the flag must be retrieved from main memory, manipulated within the and finally stored back in memory.

Select the correct option
CPU

CPU reqisters

CPU control unit

ALU/CU
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Question # 5 of 30 ( Start time: 09:54:53 PM, 02 January 2021)
One term could be used for more than one thing. For example word "Jaguar” is used in two meanings such as:

Select the correct option
Car and helicopter

Car and bus

Animal and car

Car and Cat
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Question # 6 of 30 ( Start time: 09:55:27 PM, 02 January 2021 )
The hexadecimal notation for: 111010000101010100010111

Select the correct option

Is E85517
-

Is E855
Is F985517
Is ES517
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Question # 7 of 30 ( Start time: 09:55:50 PM, 02 January 2021 )

Repeated erasing slowly the silicon dioxide chambers

Select the correct option

Damages
b d

Enhance
Increase
Decrease
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Question # 8 of 30 ( Start time: 09:56:11 PM, 02 January 2021)

The core of reverse engineering is an activity called

Select the correct option

restructure code

directionality
extract abstractions
[ . |
b4
interactivity
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Question # 9 of 30 ( Start time: 09:56:36 PM, 02 January 2021 )
If the bit sequence 0001 0111 is subjected to a circular shift of one bit position to the right would generate:

Select the correct option
0010 1110

1000 1011
b d

0100 1010

0000 1011

Click to Save Answer
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CS101:Grand Quiz Quiz Start Time: 08:05 PM, 02,

Question # 10 of 30 ( Start time: 09:56:58 PM, 02 January 2021 ) 1
Which of the following protocol helps to store the email messages on the email server machine, while retrieving email messages from the receiving server?

Select the correct option
IMAP
N
b d
POP3

SMTP

MIME

Click to Save Answer & Move to Next
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Question # 11 of 30 ( Start time: 09:57:19 PM, 02 January 2021)
UDP is protocol used for communication; the full form of UDP is

Select the correct option
User Data Protocol

User Datagram Protocol

User Datagraph Protocol

User Defined Protocol

Click to Save Ans



03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 12 of 30 ( Start time: 09:57:40 PM, 02 January 2021)

The set of tasks that ensures the software is correctly implements a specific function is known as

Select the correct option

Modularity

Verification

rN

= )
Validation
Requirement gathering
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Question # 13 of 30 ( Start time: 09:57:59 PM, 02 January 2021)

The memory manager allocates

Select the correct option

Mass storage space

Memory space

Space in the process table

Storage space




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 14 of 30 ( Start time: 09:58:18 PM, 02 January 2021 )

In searching, If the target value is not in the original list, our approach to searching the list will proceed by dividing the list into

Select the correct option

Greater parts

Equal parts

Smaller parts
)

Not divide
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Question # 15 of 30 ( Start time: 09:58:41 PM, 02 January 2021 )
Using MPEG techniques, video presentations can be successfully relayed over communication paths that provide transfer rates of.

Select the correct option

80 Mbps.
O

40 Mbps.
)

90 Mbps.

50 Mbps.

Click to Save Answer



03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 16 of 30 ( Start time: 09:59:06 PM, 02 January 2021)

Which of the following is the correct sequence of network layers for the flow of message at the sender side?

Select the correct option

Link layer to Network layer to Transport layer to Application layer

Network layer to Link layerto Transportiayer to Application layer

O

Application layer to Link layer to Network layer to Transport layer

Application layer to Transport layer to Network layer to Link layer
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Question # 17 of 30 ( Start time: 09:59:28 PM, 02 January 2021 )
Which of the following language is used for client side scripting?

Select the correct option
Python

JavaScript
[ |
=)

PHP

ASP net
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Question # 18 of 30 ( Start time: 09:59:49 PM, 02 January 2021)
UTF-8 Uses 24 to____ bits.

Select the correct option

32

30
O

21
O

90

Chick to Save
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Question # 19 of 30 ( Start time: 10:00:08 PM, 02 January 2021 )
Each router maintains a that contains the router’'s knowledge about the direction in which messages should be sent.

Select the correct option

Forwarding table
A d

Algorithmic table
Logarithmic table
Knowledge table
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Question # 20 of 30 ( Start time: 10:00:33 PM, 02 January 2021 )

The process involved in a is like copying the data rather than moving it.

Select the correct option

Transfer instruction
e

Load instruction

O

Move instruction

Shifting data
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Question # 21 of 30 ( Start time: 10:00:53 PM, 02 January 2021)

What does MIDI stand for?

Select the correct option

Magnetic information design interface

Musical information disk interface

Musical instrument digital interface

Music information disk interrogator
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Question # 22 of 30 ( Start time: 10:01:13 PM, 02 January 2021)

The binary of 8 in 2's complement notation will be 1000, what will be the binary of -8?

Select the correct option

1001
O

0000
1000
Y
b d
0100
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Question # 23 of 30 ( Start time: 10:01:33 PM, 02 January 2021 )

In Pseudocode algorithm can be represented as:

Select the correct option

Informal way
A 4

Formal way

Static way

Dynamic way
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Question # 24 of 30 ( Start time: 10:01:52 PM, 02 January 2021)

Breaking the tasks into a number of subtasks compatible with the number of available processors is called

Select the correct option

Load Balancing

Scaling

A4

Interactive Processing

O

Throughput
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Question # 25 of 30 ( Start time: 10:02:12 PM, 02 January 2021 )
Leibniz's machines were achieved by observing the positions.

Select the correct option
Third gear

First gear
Final gear
N
A J

Second gear
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Question # 26 of 30 ( Start time: 10:02:35 PM, 02 January 2021)

Internet is a collection of networks constructed by

Select the correct option

Intranet Server Provider

Internet Service Provider

- )

Internet Service Producer

Intranet Service Producer
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Question # 27 of 30 ( Start time: 10:02:56 PM, 02 January 2021 )

Basic arithmetic operations are

Select the correct option

O
O

(/1% ))
(+!-:*! /)
N
e
=-- /)
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Question # 28 of 30 ( Start time: 10:03:24 PM, 02 January 2021)
The value of program counter is an example of state

Select the correct option
Software

Process

(=)

Operating system

O

Kernel

Click to Save Answer & Move
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Question # 29 of 30 ( Start time: 10:03:44 PM, 02 January 2021 )
Step wise refinement is a methodology in that it progresses from the general to the specific.

Select the correct option
Bottom up

Top down
()

Left to right

Right to left

Click to Save An
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Question # 30 of 30 ( Start time: 10:04:06 PM, 02 January 2021 )
According to famous Job market website most of the jobs are available in

Select the correct option
Economics

Computer Science
N
=)
Mathematics
Biology
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Question # 1 of 30 ( Start time: 10:07:25 PM, 02 January 2021 )
Reason behind the Welsch NHS IT Failure was

Select the correct option
Software Security issues

Employees training

Software Technical issue

(|
b d

Weather conditions

Click to Save A
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Question # 2 of 30 ( Start time: 10:07:51 PM, 02 January 2021 )
A program logic written in an ordinary language illustrating a structure similar to computer instructions is known as.....

Select the correct option
Programs

Algorithms
Flowcharts
Pseudo codes

@
=)

Click to Save Answer & Mo
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Question # 3 of 30 ( Start time: 10:08:13 PM, 02 January 2021)
The efficiency of makes it the protocol of choice for DNS lookups and VolP.

Select the correct option
TCP

UDP

SMTP

HTTP
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Question # 4 of 30 ( Start time: 10:08:31 PM, 02 January 2021)

By attaching the to a message, the sender can mark the message as authentic.

Select the correct option

Dual Signature
A4

Single Signature
Protocol
Security
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Question # 5 of 30 ( Start time: 10:08:51 PM, 02 January 2021 )

Which of the following protocol is not associated with the transfer of email messages?

Select the correct option

SMTP
O

IMAP
O

MIME
-

POP3
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Question # 6 of 30 ( Start time: 10:09:13 PM, 02 January 2021)
is used to detect and remove the presence of known viruses and other infections.

Select the correct option

Spoofing
O

Firewall

Antivirus
e

Spyware

Click to Save A
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CS101:Grand Quiz Quiz Start Time: 10:1

Question # 7 of 30 ( Start time: 10:09:33 PM, 02 January 2021)
Network layer will be responsible to:

Select the correct option
Consult forwarding table to determine where the packet should be sent
(-

Determine which application receives an incoming message

O

Deal with the communication details particular to the individual network in which the computer resides

Reconstructs the original message according to the sequence numbers
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Question # 8 of 30 ( Start time: 10:09:54 PM, 02 January 2021)

1 kilobyte (kb) contains ___ bytes

Select the correct option

1020 Bytes
O

2024 Bytes
1024 Bytes
|
b4
10000 Bytes
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Question # 9 of 30 ( Start time: 10:10:15 PM, 02 January 2021)

The large fictional memory space created by paging is called:

Select the correct option

Volatile Memory

Non-Volatile Memory

Virtual Memory

Short Term Memory
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Question # 10 of 30 ( Start time: 10:10:36 PM, 02 January 2021)
Which of the following protocol helps to store the email messages on the email server machine, while retrieving email messages from the receiving server?

Select the correct option

IMAP

POP3
O

SMTP
O

MIME
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Question # 11 of 30 ( Start time: 10:11:24 PM, 02 January 2021)

What does VolP stands for

Select the correct option

Virtually over Internet Protocol

Voice over Internet Protocol

A4

Voice of Internet Protocol

O

Voice of International Protocol
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Question # 12 of 30 ( Start time: 10:12:13 PM, 02 January 2021 )
Which type of instruction an Instruction Register Holding?

Select the correct option
Being executed now
|
- )

Being loaded now

Being stored now

Being transfer now

Click to Save Answe
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Question # 13 of 30 ( Start time: 10:12:48 PM, 02 January 2021 )

George Boole invented the operations.

Select the correct option

Bit
O

Logical
O

Byte
O

Boolean
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Question # 14 of 30 ( Start time: 10:13:15 PM, 02 January 2021 )

Which of the following is the correct sequence of network layers for the flow of message at the receiver side?

Select the correct option

Link layer to Network layer to Transport layer to Application layer
(=

Network layer to Link layer to Transport layer to Application layer

O

Application layer to Link layer to Network layer to Transport layer

Application layer to Transport layer to Network layer to Link layer
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Question # 15 of 30 ( Start time: 10:13:39 PM, 02 January 2021 )
To construct reliable operating systems, we must develop that cover every possible contingency, regardless of how minuscule it may appear.

Select the correct option
Activity

Algorithms
-
-
Program
Command

Click to Save Answer & Move to Ne
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Question # 16 of 30 ( Start time: 10:13:59 PM, 02 January 2021 )

The binary search algorithm uses......

Select the correct option

Linear search

Divide and conquer method

Bubble sort technique

Quick sort technique
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Question # 17 of 30 ( Start time: 10:14:19 PM, 02 January 2021 )

The term used for removing process form process table is called process

Select the correct option

Killing

Deleting

Removing

Dropping
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Question # 18 of 30 ( Start ime: 10:14:40 PM, 02 January 2021)

If we have to insertion sort on names Fred, Alex, Diana ,Byron ,Carol
One approach to sorting this list is to note that the sublist consisting of

Select the correct option
Both fred and alex

Only carol

Only top name

Sub list having 3 names

Click to Save Anfd
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Question # 19 of 30 ( Start time: 10:15:05 PM, 02 January 2021)
Which unit transfers the data from memory into the general purpose registers?

Select the correct option
Control unit
r
-

Arithmetic unit

Logical unit

Shift
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Question # 20 of 30 ( Start time: 10:15:23 PM, 02 January 2021)
TIFF is abbreviation of 2

Select the correct option
Toggle Image File Format

Template Image File Format

O

Tagged Image File Frame

Tagged Image File Format
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Question # 21 of 30 ( Start time: 10:15:47 PM, 02 January 2021)

How many iterations are required to find 88 in the following array?
{5, 6, 77, 88, 99}

Select the correct option

|

2
|
hd

3
O

4




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 22 of 30 ( Start time: 10:16:08 PM, 02 January 2021)

Firewall protect the

Select the correct option
Individual computer
|
b d

Networks of computer
Organizations
Intranet
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Question # 23 of 30 ( Start time: 10:16:29 PM, 02 January 2021)
2 raised the 0 equals to

Select the correct option
0
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Question # 24 of 30 ( Start time: 10:16:49 PM, 02 January 2021 )
We have cleared off enough space for the cards but are not allowed to push additional materials back to make more room  .The restriction is in

Select the correct option
IOS applications

Mobile applications

O

Android applications

Computer applications

(|
b 4

Click to Save Answer & Move to N
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Question # 25 of 30 ( Start time: 10:17:14 PM, 02 January 2021 )
GIF can obtain additional compression by using adaptive dictionary system which technique is used by adaptive dictionary system for this purpose?

Select the correct option
Uniform length codes

LZW techniques

Frequency dependent codes

Consecutive data units
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Question # 26 of 30 ( Start time: 10:17:42 PM, 02 January 2021)

Which of the following is not a significant issue in VolP communication?

Select the correct option

Transferring audio data between communicating processes
b4

Task of initiating and receiving a-call

O

Incorporating emergency call services

Linking with traditional telephone system
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Question # 27 of 30 ( Start time: 10:18:01 PM, 02 January 2021 )
Hexadecimal notation uses a symbol to represent a pattern of four bits.

Select the correct option
Quad

Single
N
4
Double
Triple
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Question # 28 of 30 ( Start time: 10:18:22 PM, 02 January 2021)
The originator of a message can encrypt the message using the

Select the correct option
Single key

Double key
Public key
|
=)
Private key
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Question # 29 of 30 ( Start time: 10:18:43 PM, 02 January 2021 )

Using , You can search images even by giving a query of another image.

Select the correct option

Video link
YouTube link
Song link

Dedicated web link
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Question # 30 of 30 ( Start time: 10:19:03 PM, 02 January 2021 )

The core of reverse engineering is an activity called

Select the correct option

restructure code

directionality

extract abstractions

@
- )

interactivity
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Question # 1 of 30 ( Start time: 10:21:05 PM, 02 January 2021 ) Total Ma
The storage of a value with a fractional part requires that we store not only the pattern of Os and 1s representing its binary representation but also the position of the ___ .

Select the correct option
Decimal point

Radix point
e

Number

Factorial

Click to Save Answer & Move to Next Questi
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Question # 2 of 30 ( Start time: 10:21:29 PM, 02 January 2021)

In CD data is stored on a single-track from inside outside.

Select the correct option

Round
&

Rectangular
Adjacent
Spiral
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Question # 3 of 30 ( Start time: 10:21:52 PM, 02 January 2021)

When you type a query in the search bar of google. Google finds all those pages which contains

Select the correct option

All the terms given in the query
A 4

None of the terms given in.the guery

O

Some of the terms given in the query

Random
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Question # 4 of 30 ( Start time: 10:22:13 PM, 02 January 2021) Total Marks: 1

Sequential search involves a circular form of repetition; the binary search executes each stage of the repetition as a subtask of the previous stage  known as

Select the correct option
Decomposition

O 2

Transition

Recursion

Searching

Click to Save Answer & Move to Next Question
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Question # 5 of 30 ( Start time: 10:22:32 PM, 02 January 2021 ) Total
The red-green-blue combination for each of these colors is encoded using three bytes, and these 256 encodings are stored in a table (a dictionary) called the

Select the correct option

Dot
®

Matrix

Palette
e

Pixel

Click to Save Answer & Move to Next Qug



03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 6 of 30 ( Start time: 10:22:54 PM, 02 January 2021)

SSL protocol is the backbone of

Select the correct option
HTTPS
rF
-
HTML

HTTPR

HTMLS
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Question # 7 of 30 ( Start time: 10:23:14 PM, 02 January 2021 )

In insertion sort, how will the array of elements look like after second comparison?
{34, 8, 64, 51, 32, 21}

Select the correct option
8,34,51,64, 32, 21

8,21,32,34,51,64

O

8, 34, 64,51, 32, 21

=)

8, 32, 34,51, 64, 21

Click to Save Answer &
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Question # 8 of 30 ( Start time: 10:23:36 PM, 02 January 2021)

Who have highly privileged access to the operating system?

Select the correct option

Admin or administrator

Administrator or authorized user

O

Super user or authorized user

Super user or administrator
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Question # 9 of 30 ( Start time: 10:23:56 PM, 02 January 2021 )
After how long we should take the sample depends on how definition sound recordings are required.

Select the correct option
Stable

Accurate and high
rN
()

Enough

Long
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Question # 10 of 30 ( Start time: 10:24:22 PM, 02 January 2021)
is used to detect and remove the presence of known viruses and other infections.

Select the correct option
Spoofing

Firewall

Antivirus
e

Spyware
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Question # 11 of 30 ( Start time: 10:24:44 PM, 02 January 2021 )

What is the output of given while structure Pseudocode:
counter =1

while counter < 11

puts counter

counter = counter + 1

End

Select the correct option

Prints the number from 2 to 10

Prints the number from 140 11

O

Prints the number from 1to 10

b 4

Infinite loop
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Question # 12 of 30 ( Start time: 10:25:06 PM, 02 January 2021)

which type of registers is used in program execution?

Select the correct option

General purpose

CPU register

Special purpose

Memory address register
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Question # 13 of 30 ( Start time: 10:25:25 PM, 02 January 2021 )
The set of tasks that ensures the software is correctly implements a specific function is known as

Select the correct option
Modularity

Verification

Validation

Requirement gathering
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Question # 14 of 30 ( Start time: 10:25:45 PM, 02 January 2021)

The major responsibility of software is protecting resources from unauthorized access

Select the correct option

Operating System

Application

Device Drivers

Super user
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Question # 15 of 30 ( Start time: 10:26:09 PM, 02 January 2021)

Search Engines can search type of information.

Select the correct option

.
-

Programs

O

Only document

Only word files
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Question # 16 of 30 ( Start time: 10:26:31 PM, 02 January 2021 )
Each sound have a

Select the correct option

Pixel
O

Geometric Structures

Wave

Scaling
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Question # 17 of 30 ( Start time: 10:26:50 PM, 02 January 2021 )
Controller can connect through a connector that is called?

Select the correct option

Chip
O

Serial port
Port

rN

A d
Parallel port

Click to Save Answe
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Question # 18 of 30 ( Start time: 10:27:12 PM, 02 January 2021 )
Which operation is used to invert all of the bits of an RGB bitmap image?

Select the correct option
XOR

XOR
r
b d
NOR
OR
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Question # 19 of 30 ( Start time: 10:27:32 PM, 02 January 2021 )
Computer hardware is the collection of

Select the correct option
Partials

Physical parts of a computer system

Software

Program
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Question # 20 of 30 ( Start time: 10:27:52 PM, 02 January 2021)

Avoid searching the following:

Select the correct option

Lectures
O

Videos

O

Games

Pressure cooker bomb story
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Question # 21 of 30 ( Start time: 10:28:17 PM, 02 January 2021)
Which data compression technique is suitable for situation where the long sequence has same value?

Select the correct option
Differential encoding

Relative encoding

Run length encoding

rN
)

Frequency-dependent encoding

Click to Save Answer & Move to
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Question # 22 of 30 ( Start time: 10:28:40 PM, 02 January 2021)

While searching weather we will simply add

Select the correct option

Centigrade

The access points of weather

The location with the word “Weather”

Temperature
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Question # 23 of 30 ( Start time: 10:29:01 PM, 02 January 2021)
CPU required at least to fetch the instruction from memory.

Select the correct option
Two nanosecond

Nanosecond

Three nanosecond

One billion second
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Question # 24 of 30 ( Start time: 10:29:21 PM, 02 January 2021)

BOINC is abbreviated for

Select the correct option
Berkeley’s Open Infrastructure for Network Computing
rm
. d

Belgium’s Open Infrastructure for Network Computing

Berkeley’'s Open Internet for Network Computing

Boston’s Open Intranet for Network Computing
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Question # 25 of 30 ( Start time: 10:29:40 PM, 02 January 2021)
The computers of the were not very flexible or efficient.

Select the correct option

1940s and 1950s
e

1950s and 1960s

O

1930s

1961s and 1970s

Click to Save An
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Question # 26 of 30 ( Start time: 10:30:03 PM, 02 January 2021)
You can search a phrase when even you do not know word would be there at a particular

Select the correct option
Location
N
A4
Document

File

Hidden

Click to Save Answer & Mov
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Question # 27 of 30 ( Start time: 10:30:25 PM, 02 January 2021 )
Which program do you use to create a spreadsheet?

Select the correct option
MS Word

MS Excel

MS Access

Internet Explorer

Click to Save A
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Question # 28 of 30 ( Start time: 10:30:47 PM, 02 January 2021 )

There are..... iterations in following pseudo code.
def FindFactorial():

fact=2

1=1;

While (i<=7)

fact=fact*i;

i=i+1;

Select the correct option

2
O

O
5
O
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Question # 29 of 30 ( Start time: 10:31:09 PM, 02 January 2021)
Loop, is executed in a repetitive fashion under the direction of some

Select the correct option

Control process
-

Sequence process

O

Halting process

Under some background knowledge

Click to Save Answe
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Question # 30 of 30 ( Start time: 10:31:29 PM, 02 January 2021)

George Boole invented the operations.

Select the correct option

Bit
O

Logical
O

Byte
O

Boolean

@
- )
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Question # 1 of 30 ( Start time: 10:50:13 PM, 02 January 2021 )
What does VolP stands for

Select the correct option
Virtually over Internet Protocol

Voice over Internet Protocol

rN
()

Voice of Internet Protocol

O

Voice of International Protocol

Click to Save Answer & Move to Ne



03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 2 of 30 ( Start time: 10:50:41 PM, 02 January 2021)

OR operator is also represented by sign.

Select the correct option

}
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Question # 2 of 30 ( Start time: 10:50:41 PM, 02 January 2021)
OR operator is also represented by sign.

Select the correct option

}

Click to Save Answe
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Question # 3 of 30 ( Start time: 10:51:26 PM, 02 January 2021)

<a> Is called the tag in HTML document.

Select the correct option

Actor

Anchor
e

Action

Alter
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Question # 4 of 30 ( Start time: 10:51:45 PM, 02 January 2021)

ANSI stands for:

Select the correct option

Australian National Standards Institute

American National Standards Institute

)

Anglican National Standards Institute

O

Association National Standards Institute
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Question # 5 of 30 ( Start time: 10:52:04 PM, 02 January 2021)

Which of the following is a disadvantage of a linear search?

Select the correct option

Requires more space

Greater time complexities compared to other searching algorithms

Not easy to understand

Not easy to implement
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Question # 6 of 30 ( Start time: 10:52:23 PM, 02 January 2021)
By using 16 bits in 2's complement notation how many maximum positive number can be represented

Select the correct option
32768
)
-
32678

32867

32868
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Question # 7 of 30 ( Start time: 10:52:46 PM, 02 January 2021 )
Bit is:

Select the correct option
Basic unit of storage

Basic program of storage

Secondary unit of storage

Not a unit of storage
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Question # 8 of 30 ( Start time: 10:53:05 PM, 02 January 2021)

Which of the following is not true about pseudo code?

Select the correct option

Pseudo code is an unambiguous representation

Pseudo code is an informal representation

O

Pseudo code is an algorithms representation

O

Pseudo code is an ambiguous representation
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CS101:Grand Quiz Quiz Start Time: 10:50 PM,

Question # 9 of 30 ( Start time: 10:53:26 PM, 02 January 2021)
loop structure referred to as a posttest loop

Select the correct option
While

Repeat
(|
e

For

For each

Click to Save Answer & Move to
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Question # 10 of 30 ( Start time: 10:53:49 PM, 02 January 2021)
Which registers act as temporary holding places for data being manipulated by the CPU?

Select the correct option
Memory address register

Special purpose

O

General purpose

rN
()

Memory buffer

Click to Save Ans
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Question # 11 of 30 ( Start time: 10:54:13 PM, 02 January 2021 )
A single algorithm can be represented in way(s).

Select the correct option
Single

Many

|

ed
Malicious
Modern
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Question # 12 of 30 ( Start time: 10:54:40 PM, 02 January 2021)

indicates the location of the document within the host or system file.

Select the correct option

Mnemonic Name

Directory path

A4

Protocol Name

O

Document Name
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Question # 13 of 30 ( Start time: 10:55:03 PM, 02 January 2021 )
By attaching the to a message, the sender can mark the message as authentic.

Select the correct option
Dual Signature

Single Signature
Protocol
Security

Click to Save Answe
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Question # 14 of 30 ( Start time: 10:55:23 PM, 02 January 2021)

Google Drive is an example of

Select the correct option

Grid Computing

Cloud Computing
|
b4
Cluster Computing
Grid and Cluster Computing
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Question # 15 of 30 ( Start time: 10:55:42 PM, 02 January 2021 )
Which program do you use to access Internet on your computer?

Select the correct option
MS Word

MS Excel

O

MS Power Point

O

Web Browser

()
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Question # 16 of 30 ( Start time: 10:56:04 PM, 02 January 2021 )
Which unit transfers the data from memory into the general purpose registers?

Select the correct option
Control unit
N
e
Arithmetic unit

Logical unit

Shift
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Question # 17 of 30 ( Start time: 10:56:27 PM, 02 January 2021 )
Computer science has many in almost every field of the real world.

Select the correct option

Domains
O

Branches
Applications
rN
b4
Operations




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz Quiz Start T

Question # 18 of 30 ( Start time: 10:56:47 PM, 02 January 2021)
User can see directories or files by using

Select the correct option
Microsoft explorer

Internet explorer
Window explorer
|
A d

User interface

Click to Save Answ
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Question # 19 of 30 ( Start time: 10:57:10 PM, 02 January 2021 )

There are..... iterations in following pseudo code.
def FindFactorial():

fact=2

I=1;

While (i<=7)

fact=fact*i;

i=i+1;

Select the correct option

2
O

3
O

2
O

7

@
b d

Click to Save Answer & Mo
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Question # 20 of 30 ( Start time: 10:57:33 PM, 02 January 2021)

(I S C{
Quiz Start Time: 10:50 PM, 02 January

Total M;

Process is a activity.

Select the correct option

Botting activity

Dynamic activity

Static activity

Shifting activity
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Question # 21 of 30 ( Start time: 10:57:56 PM, 02 January 2021)
UDP is protocol used for communication; the full form of UDP is

Select the correct option
User Data Protocol

User Datagram Protocol

r
hd

User Datagraph Protocol

User Defined Protocol
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Question # 22 of 30 ( Start time: 10:58:18 PM, 02 January 2021 )
Ethernet based network for Bus topology makes use of for transmitting messages

Select the correct option
CSMA/CE

CSMA/CA
CSMA/AC
CSMA/CD
)
e

Click to Save Answer &
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CS101:Grand Quiz Quiz Start Time: 10:50 P

Question # 23 of 30 ( Start time: 10:58:38 PM, 02 January 2021)
SSL protocol is the backbone of

Select the correct option
HTTPS
N
b
HTML

HTTPR

HTMLS

Click to Save Answer & Move iq
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Question # 24 of 30 ( Start time: 10:58:52 PM, 02 January 2021 )

Who have highly privileged access to the operating system?

Select the correct option

Admin or administrator

Administrator or authorized user

O

Super user or authorized user

Super user or administrator
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Question # 25 of 30 ( Start time: 10:59:13 PM, 02 January 2021)
Nature of an algorithm is because its representation may change.

Select the correct option

Dynamic
O

Static
Tremendous
Abstract

(|

e

Click to Save Answer & Mo
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Question # 26 of 30 ( Start time: 10:59:34 PM, 02 January 2021)
not a valid IP address

Select the correct option
192.168.0.0

192.168.1.0
192.168.1.1
192.168.1.0.1
rF
e
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Question # 27 of 30 ( Start time: 10:59:54 PM, 02 January 2021 )
If the test for termination of a loop is executed after the execution of body then loop is known as.....

Select the correct option

Post-test loop
-

Pre-test loop

O

Termination loop

Final loop

Click to Save Ans
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CS101:Grand Quiz Quiz Start Time: 10:50 F

Question # 28 of 30 ( Start time: 11:00:26 PM, 02 January 2021)
Telnet is used to between two systems.

Select the correct option
Securely share information

Securely transfer files

Establish remote connection

Establish a secure remote connection
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Question # 29 of 30 ( Start time: 11:00:49 PM, 02 January 2021)

You can search images even by giving a query of another image using Google Image

Select the correct option

Related
O

Info
O

Tilt
O

Link
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Question # 30 of 30 ( Start time: 11:01:19 PM, 02 January 2021)
The loudness of sound varies directly with the vibrating

Select the correct option
Intensity

Amplitude
rmN
A4
Pitch
Quality

Click to Save Answer 8
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Question # 1 of 30 ( Start time: 11:02:59 PM, 02 January 2021 )

Post test loop structure refer to?

Select the correct option

Test for termination is performed before the body is executed

Test for termination is performed with the body is executed

Test for termination is performed after the body is executed

@
)

Test for termination is performed as well as the body is executed
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Question # 2 of 30 ( Start time: 11:03:24 PM, 02 January 2021 )

which type of registers is used in program execution?

Select the correct option

General purpose

CPU reqister

Special purpose

@
A 4

Memory address register
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Question # 3 of 30 ( Start time: 11:03:47 PM, 02 January 2021)
The loudness of sound varies directly with the vibrating

Select the correct option
Intensity

Amplitude
(- )

Pitch

Quality




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 4 of 30 ( Start time: 11:04:06 PM, 02 January 2021)

if (TargetValue == TestEntry):

In the above condition, what is “=="7?

Select the correct option

Assignment Operator

Equal to Operator

Conditional loop

Expression
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Question # 5 of 30 ( Start time: 11:04:26 PM, 02 January 2021 )
Which data compression technique is suitable for situation where the long sequence has same value?

Select the correct option
Differential encoding

Relative encoding

Run length encoding

@
b4

Frequency-dependent encoding
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Question # 6 of 30 ( Start time: 11:04:48 PM, 02 January 2021)

Computer does not understand any language except:

Select the correct option

Machine language

Assembly language

Binary language

Programming language
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Question # 7 of 30 ( Start time: 11:05:08 PM, 02 January 2021 )
tag gives you particular information of any website.

Select the correct option
Related

Info

N

e
Semicolon
Cache

Chick to Save
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Question # 8 of 30 ( Start time: 11:05:30 PM, 02 January 2021)

The memory manager allocates

Select the correct option

Mass storage space

Memory space

A4

Space in the process table

O

Storage space
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Question # 9 of 30 ( Start time: 11:05:51 PM, 02 January 2021 )
In Pseudocode algorithm can be represented as:

Select the correct option
Informal way
N
()
Formal way

Static way

Dynamic way

Click to Save Answer &
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Question # 10 of 30 ( Start time: 11:06:12 PM, 02 January 2021 )

Current status of the activity associated with the process is called the

Select the correct option

Process status

Process state

|

e
Process association
Process class
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Question # 11 of 30 ( Start time: 11:06:37 PM, 02 January 2021)
A negative exponent would mean to move the radix to the

Select the correct option
Before sign bit

Left

rY

)
After sign bit
Right
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Question # 12 of 30 ( Start time: 11:06:57 PM, 02 January 2021 )
Pixel to Bitmap is often used in

Select the correct option
Facsimile
F
-
Email

Searching

Matrix

Click to Save A
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Question # 13 of 30 ( Start time: 11:07:17 PM, 02 January 2021)
Which of the following language is used for client side scripting?

Select the correct option

Python

JavaScript
N
w4

PHP

ASP .net
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Question # 14 of 30 ( Start time: 11:07:40 PM, 02 January 2021 )

The in the state of the process must be sufficient to determine uniquely and completely the actions required by each step.
Select the correct option
Program

Information
|
ed
Data
Instructions
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Question # 15 of 30 ( Start time: 11:08:02 PM, 02 January 2021 )

0011 +0010 =

Select the correct option

0000

0101
r
bd
1111
1010
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Question # 16 of 30 ( Start time: 11:08:23 PM, 02 January 2021)

Reason behind the Welsch NHS IT Failure was

Select the correct option

Software Security issues

Employees training

Software Technical issue

Weather conditions
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Question # 17 of 30 ( Start time: 11:08:45 PM, 02 January 2021 )

Which of the following is not the form of existing VolP systems?

Select the correct option

Soft phones

Hard phones

Analog telephone adapters

Embedded VolIP phones
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Question # 18 of 30 ( Start time: 11:09:10 PM, 02 January 2021 )
If you want to search within the range of number, you can use

Select the correct option
Three dots

One dot
Two dots
N
e
Comma
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Question # 19 of 30 ( Start time: 11:09:30 PM, 02 January 2021 ) Total Ma
GIF can obtain additional compression by using adaptive dictionary system which technique is used by adaptive dictionary system for this purpose?

Select the correct option
Uniform length codes

LZW techniques

Frequency dependent codes

Consecutive data units

Click to Save Answer & Move to Next Questi
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Question # 20 of 30 ( Start time: 11:09:51 PM, 02 January 2021)

Pixels are

Select the correct option

Collection of dot-matrix

Collection of matrices

Collection of dots

Collection of disks
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Question # 21 of 30 ( Start time: 11:10:13 PM, 02 January 2021 )

Which of the following is the variation of firewalls?

Select the correct option

Spam filters
A 4

Net filters
Proxy filters
Wall filters
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Question # 22 of 30 ( Start time: 11:10:42 PM, 02 January 2021 )
If we are interested to see the map of some location, we can use map operator in the following way:

Select the correct option
Location: map

Map: Location

Mph: map

Locations
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Question # 23 of 30 ( Start time: 11:11:04 PM, 02 January 2021)
Which of the following is true about UDP in comparison to TCP?

Select the correct option
Less reliable but more efficient
e

More reliable but less efficient

O

More reliable and more efficient

Less reliable and less efficient
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Question # 24 of 30 ( Start time: 11:11:24 PM, 02 January 2021)
Charles Babbage invited the technology.

Select the correct option

Abacus
O

Technology of Gear
Punch Cards

b 4
ENIAC

Click to Save Answer 8§
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Question # 25 of 30 ( Start time: 11:11:44 PM, 02 January 2021)
If the bit sequence 0001 0111 is subjected to a circular shift of one bit position to the right would generate:

Select the correct option
0010 1110

1000 1011
r
e d
0100 1010
0000 1011




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz

Question # 26 of 30 ( Start time: 11:12:11 PM, 02 January 2021)

The system software consists of two categories and Utility software.

Select the correct option

Firmware software

Device drivers

Operating system

Freeware software
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Question # 27 of 30 ( Start time: 11:12:31 PM, 02 January 2021 )

loop structure referred to as a posttest loop

Select the correct option

While

Repeat
N
e

For

For each
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Question # 28 of 30 ( Start time: 11:12:53 PM, 02 January 2021 )

Diameter of COMPACT DISK is

Select the correct option

10 centimeters

11 centimeters

12 centimeters

16 centimeters
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Question # 29 of 30 ( Start time: 11:13:12 PM, 02 January 2021)
In binary Addition 1+1is =

Select the correct option
10
r
)
2

11
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Question # 30 of 30 ( Start time: 11:13:32 PM, 02 January 2021)
Cloud computing services provide reasonable guarantees of and

Select the correct option
Scalability, Reliability

Reliability, Privacy

Privacy, Security

Scalability, Security
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Question # 1 of 30 ( Start time: 11:15:45 PM, 02 January 2021)
CD stands for

Select the correct option
Compact disk (CD)

Copy disk (CD)

Compute disk (CD)

Conversion disk (CD)
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Question # 2 of 30 ( Start time: 11:16:10 PM, 02 January 2021 )
Which of the following is intangible component?

Select the correct option

Software
e

Hard Disk

O

Optical Disk

Computer Mouse

Click to Save Ang
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Question # 3 of 30 ( Start time: 11:16:31 PM, 02 January 2021)
tag contains the information related to metadata that is not usually displayed on the webpage.

Select the correct option
<html> </html>

<head> </head>

rN
()

<body> </body>

<p=> </p>

Click to Save Answer & Mov
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Question # 4 of 30 ( Start time: 11:16:59 PM, 02 January 2021)
Quantity associated with each position is the quantity associated with the position to its right.

Select the correct option

Twice
e

Single time
Thrice
Forth

Click to Save Ans
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Question # 5 of 30 ( Start time: 11:17:20 PM, 02 January 2021)
in multi-programming each job is given a

Select the correct option
Time interval

Small time interval

A regular time interval

Simple time interval
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Question # 6 of 30 ( Start time: 11:17:39 PM, 02 January 2021) Toti

The red-green-blue combination for each of these colors is encoded using three bytes, and these 256 encodings are stored in a table (a dictionary) called the

Select the correct option

Dot
O

Matrix
Palette
(|
e
Pixel

Click to Save Answer & Move to Next Q
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Question # 7 of 30 ( Start time: 11:18:05 PM, 02 January 2021)

The core of reverse engineering is an activity called

Select the correct option

restructure code

directionality
extract abstractions
. |
a4
interactivity
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Question # 8 of 30 ( Start time: 11:18:27 PM, 02 January 2021)
Firewall protect the

Select the correct option
Individual computer
=)

Networks of computer
Organizations
Intranet




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz Quiz S

Question # 9 of 30 ( Start time: 11:18:49 PM, 02 January 2021)
loop structure referred to as a posttest loop

Select the correct option
While

Repeat
|
[ —

For

For each
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Question # 10 of 30 ( Start time: 11:19:13 PM, 02 January 2021)

The computer has stop its working when the

Select the correct option

No operating system.

No software.

O

Without drivers.

Halt instruction occur.
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Question # 11 of 30 ( Start time: 11:19:39 PM, 02 January 2021 )

The instruction code to halt machine cycle is

Select the correct option

C400
O

C1000
C000
r
-
35CEO0
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Question # 12 of 30 ( Start time: 11:20:07 PM, 02 January 2021)

Email is less time sensitive, so the mail servers use fo transfer email.

Select the correct option

TCP
O

UDP
O

HTTP
O

SMTP
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Question # 13 of 30 ( Start time: 11:20:29 PM, 02 January 2021)
When applied to a list with n entries, the sequential search algorithm will interrogate an average of --——--- entries

Select the correct option

N
O

N/2
[ |

2n
O

N*n




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz Quiz Start Ti

Question # 14 of 30 ( Start time: 11:20:48 PM, 02 January 2021 )
Telnet is used to between two systems.

Select the correct option
Securely share information

Securely transfer files

Establish remote connection

rm
- )

Establish a secure remote connection
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Question # 15 of 30 ( Start time: 11:21:11 PM, 02 January 2021) Tota
Which of the following is the component name of iterative structure in which current state is changed and moved towards the termination condition.

Select the correct option
Modify
M
b d
Initialize

Test

Declaration
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Question # 16 of 30 ( Start time: 11:21:37 PM, 02 January 2021)
Instant messaging in which people carry on a written conversation over the Internet, is an example of which model?

Select the correct option
Peer-to- peer
()
-

Client/server

Process-to-process

Thread-to-thread
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Question # 17 of 30 ( Start time: 11:21:58 PM, 02 January 2021 )

One bit can contain only value.

Select the correct option

Zero

One

( a |

nJ
Two
Three
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Question # 18 of 30 ( Start time: 11:22:19 PM, 02 January 2021 )

In one user can executing several tasks simultaneously.
Select the correct option
Multiple program

O

Multilevel

Multitasking
r

Simple tasking
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Question # 19 of 30 ( Start time: 11:22:40 PM, 02 January 2021)
In the context of computer networks, WWW stands for

Select the correct option
World Wild West

World Wide West
Web World Wild
World Wide Web

rF
b d

Click to Save Answer &
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Question # 20 of 30 ( Start time: 11:23:02 PM, 02 January 2021)
1 kilobyte (kb) contains ___ bytes

Select the correct option

1020 Bytes
O

2024 Bytes

1024 Bytes
A d

10000 Bytes
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Question # 21 of 30 ( Start time: 11:23:25 PM, 02 January 2021 )
First software for implementing the Web was released in

Select the correct option
September 1990

October 1990
November 1990
December 1990
[ |
e

Click to Save An
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Question # 22 of 30 ( Start time: 11:23:46 PM, 02 January 2021)

A long string of bits is often called a

Select the correct option

Bit
O

Byte
O

Stream
e

Line
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Question # 23 of 30 ( Start time: 11:24:07 PM, 02 January 2021)
Polya’s analysis of problem solving (module 92) is to evaluate the solution for

Select the correct option
Accuracy
Y
-
Time

Cost

Consistency

Click to Save A
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CS101:Grand Quiz Quiz Start Time: 11:1

Question # 24 of 30 ( Start time: 11:24:28 PM, 02 January 2021 )
is a shift operation technique that is to place the bit that fell off the right end in the hole at the left end?

Select the correct option
Arithmetic shift

Dimensional shift

O

Logical shift

Circular/rotation shift

@
A4

Click to Save Answer & Mo
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Question # 25 of 30 ( Start time: 11:24:50 PM, 02 January 2021)

Flip flops produce output ;

Select the correct option

Collectively

Individual
)

Groups

Algorithm
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Question # 26 of 30 ( Start time: 11:25:12 PM, 02 January 2021)
FTP could check all incoming files for the presence of known viruses and block all infected files.

Select the correct option

File server

Proxy server

Web server

Shared server




03063548328 Sonu Ilyas Mughal

CS101:Grand Quiz Quiz Star

Question # 27 of 30 ( Start time: 11:25:35 PM, 02 January 2021 )
You can search images even by giving a query of another image using Google Image

Select the correct option

Related
®

Info
O

Tilt
O

Link

Click to Save Ans
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Question # 28 of 30 ( Start time: 11:26:01 PM, 02 January 2021)

Within a transfer category which instruction is used to communicating with devices outside the CPU?

Select the correct option

STORE instruction

COM instruction

[/O instruction

LOAD instruction
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CS101:Grand Quiz Quiz Start Time: 11:15 PM, 02 January 2021

Question # 29 of 30 ( Start time: 11:26:21 PM, 02 January 2021) Total Marks: 1
Many researchers believe that every activity of the human mind, including imagination, creativity, and decision making, is the result of ___ execution.

N

Select the correct option
Program

Algorithm

Flow chart

O

Machine cycle

Click to Save Answer & Move to Next Question
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CS101:Grand Quiz

Question # 30 of 30 ( Start time: 11:26:49 PM, 02 January 2021)

Time Left [ea ]
sec(s)

Quiz Start Time: 11:15 PM, 02 January 2021

Total Marks: 1

Which one of the following is not a property of a good algorithm?

To solve any graded activities contact us on WhatsApp
03063548328 Sonu Ilyas Mughal

Select the correct option

QK - G last Quiz for CS101

Consistency

:} Alhamdulilaah forevervthing

Unambiguousness

O y
Efficiency

O y
Time taking

V

Click to Save Answer & Move to Next Question
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1) Lecture live on Zoom

2) Written Lectures (pdf)

3) Recorded Videos

4) Topic wise Notes
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6) MCQs Solved
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8) Solved Graded Activities
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2) DD (Design Document)

3) Test phase

a) Test phase viva (Live Classes for viva preparation)
4) Final Deliverable
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d) Pre final viva (Coding Viva)

e) Final viva (Overall Presentation)
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